

A Note on the Diophantine Equation $(m^3 - 3m)^x + (3m^2 - 1)^y = (m^2 + 1)^{z^*}$

By Maohua LE

Department of Mathematics, Zhanjiang Teachers College, P. R. China

(Communicated by Shokichi IYANAGA, M. J. A., Sept. 12, 1997)

Abstract: Let m be a positive integer. In this note, using some elementary methods, we prove that if $2 \parallel m$, $3m^2 - 1$ is an odd prime, then the equation $(m^3 - 3m)^x + (3m^2 - 1)^y = (m^2 + 1)^z$ has only the positive integer solution $(x, y, z) = (2, 2, 3)$.

1. Introduction. Let \mathbf{Z}, \mathbf{N} be the sets of integers and positive integers respectively. Let a, b and c be positive integers with $\gcd(a, b) = 1$. In [6], Terai conjectured that the equation

$$(1) \quad a^x + b^y = c^z, \quad x, y, z \in \mathbf{N}$$

has at most one solution (x, y, z) with $x > 1, y > 1, z > 1$. By the results of Scott [4], (1) has at most one solution if $c = 2$ except in two cases $(a, b, c) = (3, 5, 2)$ or $(3, 13, 2)$ and at most two solutions if c is an odd prime. However, in other cases, this problem is far from solved as yet. In this note we consider the case that a, b and c can be expressed as

$$(2) \quad a = m(m^2 - 3), \quad b = 3m^2 - 1, \quad c = m^2 + 1,$$

where m is a positive integer with $2 \mid m$. Then (1) has a solution $(x, y, z) = (2, 2, 3)$. In this respect, Terai [5] showed that if b is a prime and there exists a prime l such that $l \mid m^2 - 3$ and $3 \mid e$, where e is the order of 2 modulo l , then (1) has only the solution $(x, y, z) = (2, 2, 3)$. In this note, using some elementary methods, we prove the following result:

Theorem. Let a, b and c be positive integers satisfying (2). If $2 \parallel m$ and b is an odd prime, then (1) has only the solution $(x, y, z) = (2, 2, 3)$.

2. Preliminaries. Lemma 1([3, pp. 122-124]). Every solution (X, Y, Z, n) of the equation

$$(3) \quad X^2 + Y^2 = Z^n, \quad X, Y, Z, n \in \mathbf{Z}, \\ \gcd(X, Y) = 1, \quad Z > 1, \quad n > 1$$

can be expressed as

$$X + Yi = i^r(u + vi)^n, \quad Z = u^2 + v^2, \quad u, v \in \mathbf{Z},$$

1991 Mathematics Subject Classification. 11D61.

*) Supported by the National Natural Science Foundation of China and the Guangdong Provincial Natural Science Foundation.

$$\gcd(u, v) = 1, \quad i = \sqrt{-1}, \quad r \in \{0, 1, 2, 3\}.$$

Lemma 2 ([2] and [5]). The equation

$$(4) \quad 1 + X^2 = 2Y^n, \quad X, Y, n \in \mathbf{N}, \\ X > 1, \quad n > 2$$

has the only solution $(X, Y, n) = (239, 13, 4)$.

Lemma 3 ([1]). Let $\varepsilon = u + vi$ and $\bar{\varepsilon} = u - vi$, where u, v are nonzero integers with $\gcd(u, v) = 1$. Further let

$$(5) \quad E(s) = \frac{\varepsilon^s + \bar{\varepsilon}^s}{2u}, \quad F(s) = \frac{\varepsilon^s - \bar{\varepsilon}^s}{2vi}, \quad s \in \mathbf{N}.$$

Then $E(s), F(s)$ are integers satisfying $(E(s))^2 + (F(s))^2 = (u^2 + v^2)^s$. Let P be an odd prime, and let s_0 be the least positive integer such that $P \mid F(s_0)$. If $p^{t_0} \parallel F(s_0)$ and $p^{t_0+t} \mid F(s)$, where s_0, s, t_0, t are positive integers, then we have $s_0 p^t \mid s$.

3. Proof of theorem. If $m = 2$, we see from (2) that $(a, b, c) = (2, 11, 5)$. By [4], then (1) has only the solution $(x, y, z) = (2, 2, 3)$. Therefore, we may assume that $m \geq 6$.

Let (x, y, z) be a solution of (1). Then from (1) and (2) we get $a^x + b^y \equiv (-1)^y \equiv 1 \equiv c^z \pmod{m}$. Since $m \geq 6$, it implies that y must be even.

If $2 \nmid x$, then from (1) we get $(-a/c) = 1$, where $(*/*)$ is Jacobi's symbol. However, since $2 \parallel m$ and $m^2 + 1 \equiv 5 \pmod{8}$, we find from (2) that

$$\left(\frac{-a}{c}\right) = \left(\frac{a}{c}\right) = \left(\frac{m(m^2 - 3)}{m^2 + 1}\right) = \left(\frac{2}{m^2 + 1}\right) \\ \left(\frac{m/2}{m^2 + 1}\right) \left(\frac{m^2 - 3}{m^2 + 1}\right) = \left(\frac{2}{m^2 + 1}\right) = -1,$$

a contradiction. So we have $2 \mid x$ and $2 \mid y$.

Since b is an odd prime, if $2 \mid x, 2 \mid y$ and $2 \mid z$, then we have $c^{z/2} + a^{x/2} = b^y$ and $c^{z/2} - a^{x/2} = 1$. It implies that

$$(6) \quad 1 + (b^{y/2})^2 = 2c^{z/2}.$$

We see from (6) that $(X, Y, n) = (b^{y/2}, c, z/2)$ is a solution of (4). Hence, by Lemma 2, we obtain $z/2 \leq 2$. Then, by (2) and (6), we get

$$3m^4 > 2(m^2 + 1)^2 = 2c^2 \geq 2c^{z/2} = 1 + b^y > b^2 = (3m^2 - 1)^2 > 4m^4,$$

a contradiction. So we have $2 \mid x, 2 \mid y$ and $2 \nmid z$.

If $2 \mid x, 2 \mid y$ and $2 \nmid z$, then $(X, Y, Z, n) = (a^{x/2}, b^{y/2}, c, z)$ is a solution of (3) with $2 \nmid z$. By Lemma 1, we get

$$(7) \quad a^{x/2} + b^{y/2}i = \lambda_1(u + \lambda_2vi)^2, \lambda_1, \lambda_2 \in \{-1, 1\},$$

where u, v are positive integers satisfying

$$(8) \quad c = u^2 + v^2, \gcd(u, v) = 1.$$

From (7), we get

$$(9) \quad b^{y/2} = \lambda_1\lambda_2v \sum_{j=0}^{(z-1)/2} (-1)^j \binom{z}{2j+1} u^{z-2j-1} v^{2j}.$$

Notice that b is an odd prime. We see from (9) that $v = b^k$, where k is an integer with $0 \leq k \leq y/2$. If $k > 0$, then from (2) and (8) we get $m^2 + 1 = c = u^2 + v^2 \geq 1 + b^2 = 1 + (3m^2 - 1)^2 > 4m^4$, a contradiction. It implies that $k = 0$ and $v = 1$. Therefore, by (2) and (8), we get $u = m$, and by (7),

$$(10) \quad a^{x/2} = \lambda_1m \sum_{j=0}^{(z-1)/2} (-1)^j \binom{z}{2j} m^{z-2j-1},$$

$$(11) \quad b^{y/2} = \lambda_1\lambda_2 \sum_{j=0}^{(z-1)/2} (-1)^j \binom{z}{2j+1} m^{z-2j-1}.$$

Since $2 \parallel m$ and the sum in (10) is odd, we see from (10) that $x = 2$ and

$$(12) \quad a = \lambda_1m \sum_{j=0}^{(z-1)/2} (-1)^j \binom{z}{2j} m^{z-2j-1}.$$

Therefore, if $y = 2$, then we obtain $(x, y, z) = (2, 2, 3)$.

We now suppose that $y > 2$. Let $\varepsilon = \lambda_1(m + \lambda_2i)$ and $\bar{\varepsilon} = \lambda_1(m - \lambda_2i)$. Then from (2) we get $\varepsilon\bar{\varepsilon} = c$. Further let $E(s), F(s)$ satisfy (5). By

Lemma 3, $E(s)$ and $F(s)$ are integers satisfying

$$(13) \quad (E(s))^2 + (F(s))^2 = c^s, s \in \mathbf{N}.$$

We see from (2), (11) and (12) that

$$(14) \quad E(3) = \lambda_1a, E(z) = a,$$

$$(15) \quad F(1) = \lambda_1\lambda_2, F(2) = 2\lambda_2m, F(3) = \lambda_1\lambda_2b, F(z) = b^{y/2}.$$

Since $y/2 > 1$, by Lemma 3, we obtain from (15) that

$$(16) \quad z = 3b^{y/2-1}z_1, z_1 \in \mathbf{N}.$$

Therefore, by (13), (14), (15) and (16), we get

$$(17) \quad 2b^y > a^2 + b^y = c^z \geq c^{3b^{y/2-1}} > e^{3b^{y/2-1}} > \frac{1}{4!}(3b^{y/2-1})^4 > 3b^{2y-4},$$

where we get $2b^{2y} \geq 2b^{y+4} > 3b^{2y}$, a contradiction. Thus, the theorem is proved.

Acknowledgements. The author would like to thank the referee for his valuable suggestions.

References

- [1] D. H. Lehmer: An extended theory of Lucas' functions. *Ann. of Math.*, **31**, 419–448 (1930).
- [2] W. Ljunggren: Zur Theorie der Gleichung $x^2 + 1 = Dy^4$. *Avh. Norske Vid. Akad. Oslo.*, **5**, 1–27 (1942).
- [3] L. J. Mordell: *Diophantine Equations*. Academic Press, London, pp. 122–124 (1969).
- [4] R. Scott: On the equations $p^x - b^y = c$ and $a^x + b^y = c^z$. *J. Number Theory*, **44**, 153–165 (1993).
- [5] C. Störmer: L'équation $m \arctan \frac{1}{x} + n \arctan \frac{1}{y} = k\frac{\pi}{4}$. *Bull. Soc. Math. France*, **27**, 160–170 (1899).
- [6] N. Terai: The diophantine equation $a^x + b^y = c^z$. *Proc. Japan Acad.*, **70A**, 22–26 (1994).

